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1. @ How many biscuits in 6 packets?

g

e -
2. 6 How much for 3 pears? .
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3. |37 | What number is 20 greater than 377

How much for 2 cones? C

5. What must | add to 43 to make 517

Write the missing number.
59 64 79 84

Susan has 28 chestnuts and
Alan has 48. How many more

chestnuts has Alan than Susan?

What change did | get from 50c¢
when | bought the ball? C

How much for

2 apples and an orange? C

Jack bought 2 oranges.
What change had he from 20c? C
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Test 14 Revision

1. 42+23=@+O+@+®

Write the missing number.
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7. Colour the ovals red.
8. Colour the circles green.
9. Colour the rectangles blue.

10. Colour the semi-circles yellow.
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